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Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

This Test Booklet consists of three parts - Part I, Part II and
Part III. Part1 has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct response.
Part II (Aptitude Test) has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part IT1
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside this Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part I and Part II, one-fourth (Ys)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part I
and Part IL. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand
over the Answer Sheet of Mathematics and Aptitude
Test-Part I & II and the Drawing Sheet of Aptitude
Test-Part III to the Invigilator in the Room/Hall. Candidates
are allowed to take away with them the Test Booklet of
Aptitude Test-Part I & IIL

The CODE for this Booklet is Y. Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part T11) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part 1 / 9T
Mathematics / 7O

The function f (x) =xe™* has :

(1) neither maximum nor minimum at
x=1

(2) a minimum at x=1
(3) a maximum at x=1

(4) a maximum at x=—1

If P(A)=0.4,
P(ANB)=0.15,

P(B')=0.6
then the wvalue of

and

P(AJA'UB') is :
1
1 17
4
2 17
5
@ 17
10
4 17

The area of the region bounded by the

curves y=1-x2, x+y+1=0 and

x—y—1=0is:

1w 19
@ 74
@) &

@) 3

i i3

e f(x)=xe” T I :

(1) x=1WT A FTa9 99 T SR T &
S

(2) x=1W a9 9 §
(3) x=1 W= AA &

@) x=—-1RWITWAAT

afe  P(A)=04, P(B)=0.6 I
P(ANB)=0.15 P(A|A'UB') &I °H ¥ :

1
O T
4
2) 77
5
)
10
@ 737

EED y=1-x% x+y+1=0qMx—y—1=0
Y ufterg & =1 4% ©

@ 19
@. 7%
@) 8

@) 3
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If the mean and standard deviation of 20
observations X, Xy, .7 M- ,» Xy are 50

20
and 10 respectively, then Z X,-2 is equal

i=1
to:
(1) 2510
(2) 50200
(3) 52000
(4) 2600

If x5, x5, Koy visvss s X13 are in A.P. then the

el 1 oY

X X .
value of | ¢™¢ %7 %10 | is:

X

AT 20 TG X, Xy, Xy, cooenr , Xy T HIEH
qe1 wHe fa=e O 50 991 10 €, @

20

Z X;?‘ FHIAM T :
i=1
(1) 2510
(2) 50200
(3) 52000
(4) 2600

(1 27 1 27
(2) 0 2 0
@ 1 @) 1
4 9 4 9
If the sum of the coefficients in the Al (x+y)" & THR H TN T T 2048 B,
expansion of (x+y)"” is 2048, then the o TR H g 78 O €
greatest coefficient in the expansion is :
(1) ¢, M ¢
2 U, 2) g,
(3) g, @) U,
@) 12 @ 12,
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A committee consisting of at least three
members is to be formed from a group of
6 boys and 6 girls such that it always has
a boy and a girl. The number of ways to
form such committee is :

1) 212-27-13

(2) 211-26-13
(3) 212-27-35
(4) 211-27-35

The values of @ and B such that

2
lim [x +1—ax—23}=% are :

x—oo| x 41

1) a=-1,p=%
2 o=1,p=-3

@) e=-1,p=%
4 «=1p=-%

Statement - 1 :

~(A & ~B) is equivalent to A< B.

Statement - 2 :

Av (~(AA ~B)) a tautology.

(1) Statement - 1 is false, Statement - 2
is true.

(2) Statement - 1 is true, Statement - 2 is

true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Statement - 1 is true, Statement - 2 is
true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) Statement - 1 is true, Statement - 2 is
false.

6 TSHI qA 6 ASfHal & TH G ° §
3 HeEl & Uk Sl 1 oA H oy
TR U ASH a9 Ueh STl Bl | 39 A F
T3 & oliehi ol GEAT T :

(1) 212-27-13
(2) 211-26_13
(3) 212-27-35
(4) 211-27-35

o T B F TH, W&l

Ui -1:

~(Ae~B), A©B F T9TF 21
YT -2

Av (~(AA ~B)) T& Y& 2 |

(1) 2T -136A ¢, 7 - 2FA B

(2) FH-19AE FH-2TA T
HYF - 2, FYA - 1 I T ATA T

(3) HFUT-1TA T, FI -2FA B
Y - 2, FYA - 1 I TE AT T e |

(4) FUT-19F T, FYT -2 AFA B
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.

10. The latus rectum of the conic section | 10. TR=g 9x2+4y2—36=0 &1 A &9

9x2+4y*>—36=0 is : 2:

W % ™ %

@ % @ X%

@ % ® %

4) 9 4) 9

11. Let A and B be two 2 x 2 matrices. 11. AFI ATHIB R 2x2 & g ¢

Statement - 1 : hUT-1:

Afadj A)= |A|L, Aadj A)=|A|L,

Statement - 2 : gt -2:

adj (AB)= (adj A)(adj B). adj (AB)= (adj A)(adj B).

(1) Statement - 1 is false, Statement - 2 (1) FI -1 39A ¢, FH - 2 A B
is true.

(2) Statement - 1 is true, Statement - 2 is (2) FHA-1TAR FIT-2TA T
true; Statement - 2 is a correct HYA - 2, FYT - 1 FI GE ARAT € |
explanation for Statement - 1.

(3) Statement - 1 is true, Statement - 2 is (3) WY -1TA T, FI -2TA T
true; Statement - 2 is #ot a correct HYH - 2, HUF - 1 Ht el IS Tal g |
explanation for Statement - 1.

(4) Statement - 1 is true, Statement - 2 is (4) FUA-19A T, FH -2 A ¥
false.
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12.

Statement - 1 :

If f (x)=¢* Y @73 then Rolle’s theorem

is applicable to f(x) in the interval [1, 3].

Statement - 2 :

Mean value theorem is applicable to

f(x) =D 73 in the interval [1, 4].

(1) Statement - 1 is false, Statement - 2
is true.

(2) Statement -1 is true, Statement - 2 is
true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Statement -1 is true, Statement - 2 is
true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) Statement -1 is true, Statement - 2 is
false.

12.

YT -1:

AR f()=e®* D EI G A f(r) RIS *
Y ST [1, 3] | @R R

HYT-2:

A T f (x) =D 673 s
[1, 4] ¥ @] €1

(1) e -1 3HA ¢, 9 - 2 T4 B

2) FUT-19AE, FH -2 TA T
FYA - 2, FHUA - 1 I Tel AT B |

(3) FH-199E FH-2TA T
FUF - 2, FUH - 1 I Hel A= TE e

(4) FUT-1TA T, FH - 2 ITA ¥

13. tan 9°—tan 27°—tan 63°+tan 81° is equal | 13. tan 9°—tan 27°—tan 63°+tan 81° &1 HH
to: % :
(1) 4 (1)
(2) 0 (2)
®) 1 (3)
4) -1 4 -1
d
14. If y(x) is a solution of the differential | 14. g y(x) FTHA HHIHTI £+3y=2 Eal
. dy ; " ,
equation d—“+3y=2,then lim y(x)is THEEAE @ lim y(x) LT :
# X — 00 X —ee
equal to :
1) 1 1 1
2) 0 2 0
3 3
G 5 ®) 5
2 2
@ 3 4 3
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T,
2
15. j min (sinx, cosx )dx, equals to :
0

1 22
2 2
(B) 2-2
4) 242
6. 1 fa={T o r=Tl g
' 2x+2, x>—1"
derivative of f(x) at x=—11s:
1 2
2 0
1
3 3
4) 3

the

17. If a and b are such that a sin 8=0b cos 0 for

a—b a+b
0<0<7, then ,{m‘*,['a_—b equals :

(1) \Jcos2 0
(2) 2cosb

2 cos 0

(3) \Jcos26

2sin6

(4) Jcos2 @

15.

16.

17.

!

2
_[ min (sin x, cos x)dx, SR T
0

1) 2v2
@ V2

(B) 2-2
4) 2+.2

-
gfg f(x)z{l ¥ x=-1 M x=—1W

2x42, x>—1

f(x) 1 TTHAS € :

a 2
@ o
@ 5
@ 3

g g a4 b@%ﬁasm():bcosﬁﬁ,

a—b [a+b
059<%a:mfh +b Vai-p
TR T :

2
(1) \Ncos2 0
(2) 2cosH
2 cos B
(3) Jcos2 6
2sin®
4) Jcos2 6
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18. The acute angle between the tangents forg (1, 4) @ TEeE 2= 4x W Ei T8 e
drawn from the point (1, 4) to the parabola @I & o" A R
y=4xis:
W % W %
@ T @
@ % ® 7
@ @ 7
19. If a plane meets the coordinate axes at A, | 19. @f¢ T% 9Haw e 378 &1 A, BANMC T
B and C and AABC has centroid at the fa@ar 2 991 AABC &1 =& faxg
point G(E 14 f.] then the equation of G[.a- b E]Tﬂ% 1 TS T THH
2°2"2 2°2°2
the plane is :
x Yy, z 3 x, v,z _3
(1)abc2 (l)abCZ
x y z 2 x y. .z 2
@ =t @ 27773
x vy, z_ 1 x y, z 1
4= I+ ==
(3)abc2 (3)abc2
x ¥y z 1 X, ¥,z _1
TS T= e
(4)abc3 (4)abc3
2
20. Let f R—R be defined as |20. TFIf:R—R, IR0 Ef(x)= j” LA
1
f (= )—J x? it dt. Then the curve gm?haa;y=f(x)t{$
y=fx)is:
(1) an ellipse (1) <rEaE
(2) a straight line (2) Waw@E
(3) a parabola (3) TETHE ®
(4) a hyperbola (4) HfaweeE &
Page 8 SPACE FOR ROUGH WORK /% &d & forg wmrg
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21. Statement-1: 21. S®¥A1:
. 2 —x% . . 2 —x* .
The function f(x)=x“¢ " sin|x| is even. e f(x)=x"e " sin|x| T GH e B
Statement - 2 : YT 2:
Product of two odd functions is an even 31 faum weEl $i UM Ueh §H el 7l
function.
(1) Statement - 1 is false, Statement - 2 (1) o -1 3EA ¢, FYF - 2 6 B
is true.
(2) Statement - 1 is true, Statement - 2 is 2) FIT-19TFE, FIT-2TA &
true; Statement - 2 is a correct YT -2, HYI-1 I el S B
explanation for Statement - 1.
(3) Statement - 1 is true, Statement - 2 is (3) =HYT-1¥H §, HUA - 29 B
true; Statement - 2 is not a correct T - 2, FYT - 1 i el AR T@ & |
explanation for Statement - 1.
(4) Statement -1 is true, Statement - 2 is (4) YT -11A T, U - 2 39 T
false.
22. Area of a triangle with vertices given by | 22. ¥, o ¥ 2, iz, z + iz ¥ el 2 w wimg
z, iz, z+iz, where z is any complex T, o &% ©
number, is : '
1 0 @ 0
1, o 1, 2
@ 5l @ 5l
@) |z @ |z
@ 2|z)? @ 2|z
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23. Statement -1 : 23. &hYA-1:
The equation |x| + |y| =2 represents a HHIHI [x| + |y| =2 TH "@HIGR Fq4+
parallelogram. Frefm =t 21
Statement - 2 : ST -2:
Lines x+y=2 and x+y= —2 are parallel. @ x+y=2TM x+y= —2 FAW g
Also lines x—y=2 and —x+y=2 are T x—y=279 —x+y=2 "l FHIR gl
parallel.
(1) Statement - 1 is false, Statement - 2 (1) FI-130AF ¢, F99 -2 94 &
is true. :
(2) Statement - 1 is true, Statement - 2 is (2) =¥ -19A T, FH -2 TA B
true; Statement - 2 is a correct FET - 2, FY - 1 Tl T A=A gl
explanation for Statement - 1.
(3) Statement - 1 is true, Statement - 2 is (3) FAT-19A ?, YT - 29A T
true; Statement - 2 is not a correct HYF -2, HAT-1 Dl e = ?ﬁ%l
explanation for Statement - 1.
(4) Statement - 1 is true, Statement - 2 is (4) FUT-19H §, A - 2 39A T
false.
24. Shortest distance between z-axis and the | 24. z-z@ gy *~2_Y =5 _2+1 F 4y
3 2 =5
fite x—2 _ y—=5b z+l 5
3 2 -5 ENELAULE
2 L
™ 75 O 73
5 1 y 1
2 13 2 13
13 13
11 11
@) 73 4 73
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25.

26.

27.

If x2—3x+2 is a factor of x*—ax2+b=0,
then the equation whose roots are a and b
is:
(1)
()
3)
(4)

x2+9x+20=0
x2—9x—20=0
x2—9x+20=0
x2+9x—20=0

=y =

- -
Let OA=a, OB=2b+10 n and

—_— =
O C = b where O is the origin. If p is the

area of the quadrilateral OABC and ¢ is
the area of the parallelogram with OA and
OC as adjacent sides then p is equal to :

1 4°
(2) 64

@ Y%

4) 6-9q

Let p, g, r be real numbers such that
p+q+r#0. The system of linear equations

x+2y—3z=p
2x+6y—1lz=gq
x—2y+7z=r
has at least one solution if :
1)
()
©)
(4)

5p—2q—r=0
Sp+2q+r=0
S5p—2q+r=0
S5p+2q—r=0

25.

26.

27.

S x2—3x +2 TF POAGEE & x4 —ax2+b=0
%, 1 I8 IR 519 ol o TAB E, §

(1) x249x+20=0
(2)
(3)
(4)

x2—9x—20=0
¥2-9x+20=0
¥24+9x—20=0

—_— 5 ——

= e
HHAT OA=a, OB=2b+10 a q9I

OC=p & o fag ¥ af p, agus

OABC 1 &% & 741 ¢ T U8 TH=R Tgds
1 GRS § [STHhT TEH YoM OA 41 OC
%, Fﬁpw%:

(1) ¢°
(2) 69

® Y%

4) 6—gq

M p, g, r THI arafas g&d € fF
p+q+r¢0,?ﬁi‘ﬁ§3?1:ﬂﬂ$fmﬁ$m

x+2y—3z=p
2x+6y—11z=g
x—=2y+7z=r
1 HH Y FH TF T ¢ A
S5p—2q—r=0
Sp+2q+r=0
5p—2q+r=0
S5p+2q—r=0

Page11
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28. UH Ok & WHIHW y=f(x) N USA ¥

28. The equation of a curve is given by y=f(x),
where f"(x) is a continuous function. The SRl f'(x) T EWad wed ) forgati
tangents at points (1, (1)), (2, f(2)) and 1, f)), (2, £(2)) TAT (3, f(3)) T @i=t
T o ™ T o W x-de HouA few ¥ Wiy
(3, f(3)) make angles %' 3 and )
™ I m ﬁ -
respectively with the positive x-axis. Then "6’ 3 o 4 = g
3 3 3 )
[Fi(x) frexyax+ [ £ (x)dx is - [Frx) Frixyde+ [ £ )dx s
2 1 2 1
1 1 ®m 1
) 1
@ 7 @ "7
1 1
®) G H
4 o0 4 0
29. The equation of a circle of area 227 square | 29. 227 & 3FE &FFA A I4, TS IH
units for which each of the two lines @ 2x+y=27°q x—y=-5M T, &l
2x+y=2 and x—y= —5 is diameter, is : THIE F
(1) x2+y2—2x+8y—5=0 (1) x2+y*—2x+8y—5=0
(2) *?+y*—2x—8y-5=0 (2) x2+y*-2x—8y—5=0
(3) x2+y2+2x—8y—5=0 (B) x*+y*+2x—8y—5=0
@) 2+y2+2x+8y—5=0 (4) 22+y2+2x+8y—5=0
30. Consider the following relations 30. Tr= ga9i w fagr wifeg
R;={(x, ¥) : x, y are integers and Ri={(xy):x Hmym%?lm x=ay AYA
x=ay or y=ax for some integer a} y=ax, fdt quis o &% T
Ry={(x, y) : x, y are integers and Ry={(x,y) : x, y quiish g ao ax+by=1,
ax+by=1 for some integers g, b} =i T'ﬂlﬁ?f aqdb % fom b
Then
(1) Ry R, are not equivalence relations. (1) R, TR, ToIal Hay & &
(2) Ry R, are equivalence relations (2) R, AUTR, godal Hay €
(3) R, is an equivalence relation but R, (3) R, e Joudl HaY T W R, T
is not
(4) R, is an equivalence relation but R, (4) R, T Toud §9Y § G R, el
is not
Page 12 SPACE FOR ROUGH WORK /{0 Té & fora s
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Part I1 / 9@ 11
Aptitude Test / 3fu&fa udteor

Directions : (Fer Q. 31 to 37).  The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

frdfer: (w31 937 &F @)1 3-D 5 SH 7 U 9% & o g4 %1 @ 1 &1 7R #1 R
% 3@d gU 39% G 9T §¥T F I Fad 3 @ I/

Problem Figure /| 97 3gid Answer Figures / S0 STgtaal

31.

[T 1

/ M @ ) @

] [ ] | ] H
32. || ] 7 ]
L[]

* (1) (2) (3) (4)

33.

o) 2 () (4)

Page13 SPACE FOR ROUGH WORK / T @THl & o smig
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Problem Figure | 997 3rgfd

Answer Figures /| 3 ST aal

& 19 eg o

34

@ =alEsdILSUIES
35.

A 1) (2) ®) 4)

SIS

- 23 60 (5 (B (B

o (1) 2 3) 4)
37. HAN I N

@ [ 1 C [—

1) ) @) 4)
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Directions : (For Q. 38 and 39).  Find the odd figure out in the problem figures given below :
fdor: (W38 339 & few )1 fA=ifafaa & 75 999 ahiadl § @ 399 i ard |

1) @) 3) (4)
©) | @

(1) (2)

Directions : (For Q. 40 to 44).  Find out the total number of surfaces of the object given below in
the problem figure.

fE9r: (W40 @44 F Q)1 T97 a7Ffa F i ag & Taal &1 o7 &I F1 FIT
Problem Figure / F97 STl

40. @ (1) 15 (2) 12 (3) 13 (4) 14
41. % (1) 14 2 11 (3) 12 4) 13
2. @ 1 20 @ 17 @) 19 @ 18
Page 15 SPACE FOR ROUGH WORK / 1% &Td & feTt 5718
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Problem Figure | F¥7 3t

43, 1 16 @ 14 3) 12 4) 15

44, 1) 12 @) 15 3) 14 4) 13

Directions : (For Q. 45 and 46). How many total number of triangles are there in the problem figure
given below ?

Faer: (W45 3iv46 & g )1 719 &1 7 797 ayrghta 4 sl 91 For Qe oo &2

Problem Figure / F%7 37Ighfd
45.

1 17 2) 14 G) 16 @) 18
46.

1) 13 @) 15 3) 14 4) 16
Page 16 SPACE FOR ROUGH WORK / T &4 & fea simig
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Directions : (For Q. 47 to 49).

T : (W47 @49 & fom )1

47.

48.

49.

Problem Figures | %7 Sfaal

Which one of the answer figures will complete the sequence of the
three problem figures ?

I Fadl § T FiAG Hla F a7 F97 SHaE 4 o G
Sﬁﬁfﬂ(sequence)i?'fﬁ?m?

Answer Figures | 3T faar

rangkoulhd i ? | i i =
(1) (2) (3) (4)
PIPIP|?| P DD
NN e
(1) (2) ©) (4)
B ? ] DL @ QD
1) 2) 3) (@)

Direction : ( For Q. 50 ).

How many total number of squares are there in the problem figure given
below ?

Feer: (W50 % frw)1 19§ 7 597 arpfa & 7 @1 FoT GE fHa 8 7
50.
(1) 20 2) 13 (3) 16 (4) 19
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Directions : (For Q. 51 and 52).  One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

R (w1952 FRI)1 A G T SR Al F @ T sty @ Sk e v w v @
yv7 el 4 foodt &1 Fidt gl & g ?

Problem Figure / 997 37Ffd Answer Figures | ST Tghaa

X_ N
/

Ao O <
(1) (2) (3) (4)

< £~ /4

(1) (2) )

Directions : (For Q. 53 to 55). ~ Which one of the answer figures, shows the correct view of the
3 - D problem figure, after the problem figure is opened up ?

fd9r: (W53855 F @)1 3-D 597 3FhT 1 Gierd T, I9 FHIad 5 G G&l 599 HIare ?

Problem Figure / Answer Figures / 3T STHlaal
J¥7 3l

[T []]

w ) IR "

[[1]

- — —

] ] ] L

(1) (2) ©) 4)
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Problem Figure / Answer Figures / 3 Sl
¥¥7 IFld

[ T T ]
[

L SiE =ffe ;AEN?

&
—J_]7Il||

[]

L]

= ]

) (2) (3) 4)

L& AR Y A T

1

(1) 7) B) (

1=
~—

Directions : (For Q. 56 and 57).  The problem figure shows the top view of an object. Identify its
correct front view, from amongst the answer figures.

Fder : (756 3757 & Q)1 797 rgh 9 il aeg 1 $91 g9 fewrar 71 &1 3 st &
9 9% T8l TE §vF BT

Problem Figure/ %7 371ld Answer Figures /| 3T sTahfaal

-7 I ™

2 3) 4)
i g /\ :&:
[ ] [ [ [ |
(1) (2) (3) (4)
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Directions : (For Q. 58 to 62).  The 3 - D problem figure shows the view of an object. Identify, its
correct top view, from amongst the answer ﬁgu res.

Fer: (W58 W62 & )1 3-D 797 oT3hla ¥ wah a%g &1 fewrn 7w &1 39 98 w9t 5v

I HTHIT F G T
Problem Figure | ¥97 37l Answer Figures | 3 SHiadl
@ : /
(1) @) (3) (4)
o - _
. ]
® A I
@) 2) 3) (4)
60.
| | ]
1) (2) (3) @)
@ IS 1l
(1) (2) ©) (4)
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Problem Figure / 997 3iigld Answer Figures | 3¢ Sgtadl

62.

(1) 2) ) )

Directions : (For Q. 63 to 65).  Which one of the answer figures is the correct mirror image of the

problem figure with respect to X —X ?
39T : (W63 8653 fora)i IW SMFHIaFl H G BTar AFlT G T FT HT B X~ X W G

gYr Yfcifarar & 2
Problem Figure / Answer Figures /| 3w HiFfaar
¥ 3FHd
X
o ( /@ S\
X ) ) 3) @
X
. 01* f‘ &10 Of‘ jO
X (1) (2) (3) 4)
s L7 N Ny
X X @ o) @
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66.

Trees should be planted on which side to

66.

& 1 9o & fog oY, T | s=m % fag,

protect buildings from heat gain ? T ST =1 2
(1) East side (1) Y& =l IR
(2) North (2) W IR
(3) North - East side (3) W &l AR
(4) Westside (4) fe=m =t AR

67. What is ‘Green Architecture’ ? 67. fr=ifea & ¥ “efa angeen’ fF8 Fed €2
(1) Where green coloured glass is used. (1) STRT & 47 3 9t =1 wein feman @
(2) Where buildings are painted green. (2) e THRG! e 1 o A
(3) Where building material used have (3) i wEm H o M yeA ffor weht

consumed least energy. wH Y HH 9 9 918 TS B
(4) Where maximum green plants are (4) el siftrr ¥ eafaes € el 1 e
used. TR

68. Who amongst the following is an | 68. m’lﬁﬁﬁﬁﬁ?@ﬂﬁﬁi(meﬁt&ct) ??
architect ?
(1) Raj Rewal (1) TS @
(2) Ravi Shankar (2) & 9T
(3) Shanker Mahadevan (3) Vit HRISEH
(4) Usha Uthup (4) Fu3UY9

69. New Gugenheium museum is designed | 69. 3 TfiFeH STSTFE=R $T T fHEH H €2
by :
(1) Frank O Gehry 1) e
(2) F.L. Wright (2) THTH T
(3) Charles Correa (3) =T HIRE
(4) LM. Pie (4) EwA

70. The Dome of Rashtrapati Bhawan is | 70. Us9fd o= &t T guifed @ :
influenced by :
(1) Gurdwara (1) TEWH
(2) Mosque () wHEEd
(3) Temple (@) #f<td
(4) Stupa (4) wuA
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71. In buildings, which parts are responsible | 71. ARGl H, A o, @ siferen 7 o & 2
for maximum heat gain ?
(1) Chajjas 1) ==
(2) Roofs (2) =d
(3) Walls (3) ER
(4) Windows 4) TasfFar

72. Name the city, where canals are used for | 72. 39 Y& & 91 Hﬁﬁ, Tﬂﬁ‘i’@f, AT 6 &Y
transportation channels : H gAn § wdt €2
(1) Canberra (1) FAa
(2) Tokyo (2) Sifwar
(3) Manhattan (3) HgeA
(4) Venice (4) =f=

73. Which one of the following is not a | 73. Tr=ifafaa # ¥ S w=a ¥« & @2
matching set ?
(1) Steel - Mud (1) w& - T
(2) Concrete -  Beam (2) i - el
(3) Sound - -  Vibration (3) =+ - &M
(4) Heat - Insulation (4) F= - T

74. Tracing paper is : 74, ZET IR (SFTEI-FFE) HH BT ?
(1) Black (1) e
(2) Transparent (2) OReEd
(3) ' Semi-transparent (3) AHuRE
(4) Opaque (4) ST

75. Cavity walls are best suited against : 75. i f4fH (Cavity walls) Frifsa 9 & we 9

sifer foraat T § wmef 22
(1) Heat (1)
(2) Dust 2) 4=
(3) Light (3) TwAT
(4) Rain (4) adi
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76. Which one of the following is an | 76. fr=ifsra gf=l-# & HIAEN Y&y FI THEE SaT
Earthquake resistant structure ? g7
(1) Mud walls. (1) g T o+ San
(2) RCC framed. (2) SR ©I H %A
(3) Load bearing brick walled. (3) ¥R U ATEl 3¢ i QAR
(4) Random stone masonary. (4) 3ehel-U= aleh o el i o
77. Which is not a sound absorbing material ? | 77. Fie g1 eaf srasive T2 7 2
(1) Jute Bags (1) veET a9l
(2) Thermocol (2) oHiH
(3) Glass Wool (3) HE W &R
(4) Ground Glass (4) e i
78. Who was the architect of Sansad Bhawan, | 78. H9g 9ad, & fo@l & ElT@,ﬁQEﬁ'rl 97
New Delhi ?
(1) | Alvar Alto (1) 3R e
(2) Charles Correa (2) =™ IR
(3) Herbert Baker (3) B S
(4) A.P. Kanvinde (4) T FHAfEg
79. Horizontal sun shades are required to | 79. &fest E@l, o & fohd 3R %k, A& T i
protect windows on which facade of a faefeal =1, g =i fHol 9 F=m € 7
building ?
(1) South (1) <o
(2) East 2 4
(3) West (3) ufF=H
(4) North (4) =W
80. Which structural component can be built | 80. Y& % HY YR B Aol e, for $891d &
without steel reinforcement ? TR ¥ SR S Hehd € 2
(1) Folded concrete roof slabs (1) hehl2 ohi T8 111 g8 94 (hidlies )
(2) Concrete beams (2) I i wigAl
(3) Flat concrete roof slabs (3) THAS hehle i B
(4) Domes (4) T
-00o- -00o-
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Read the following instructions carefully :

Frorfetiaa (Fevr e @ ug -

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part I, one-fourth (Y4) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part 1
& Il and Drawing Sheet of Aptitude Test-Part II to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part T & IL

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means
will be dealt with as per Rules and Regulations of the
Board.

9. No part of the Test Booklet, Answer Sheetand Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1

10.

11.

GR&TehT % 9T 1 ¥ 7O o 30 SRS 99 § foed uee
¥ % el S % fow un () o fuffa fm
T 11 ( @rfels wiern) § 50 F%gfE e € o v
e SO o ToTe =i (4) 37 & 1 gfeent & Wt I E 2 e
& Tormens o 70 s7% Feifia € 1 o wed 3ot wiven e
o S TE SR ¥iE WA ¥ | weiT wed v e
#Heh Y% o 9@ sifehg €1 w9 1R w0 vom
AT Y o o0 39 v % fon feife go i d @
ga-wrerg (Ya) 5% Fe 9 § 9 s foag wnd | afs
SR H 5l g w1 5 I fewm T g, @ g
A E § FE o7 @ e W |

e I, ST 9 UF RT Wi S SAFyEs g
L, FHifw foret «ff qftfufa 3 (SFeer wden g @
I T % e H i # feufa i Srewt) <ol wen
YFEeR! 3eT= 81 ST S |
et = I T W FE ot T S 91 fomE w5 e
T FI A TR & | W A U Terarg w1 s, ahen
gieR | i srre st o ‘T = % fore s g
iR €, T TR ST | 9 S Yok U WA &t
R qo Yfrel & 50 § 378 (YW 25 - 27) WA W T
99 §H W g wendl e w5 s vdw w5
femmd |

sreftars =1 Flier =1 fosi ergafa & fomm =18 wdenef
AT T A DS |

qOan w9 B W, Tenef et w1 e
T ~ 91T 1 TS Sl IRayor - S0 I 39 95 0E
i {iagor- w111 & SR e o SR suftufy o
T ST BE SR T % IYEI € e el 8|
UH = & T A8 HET S 5 390 93 ue 2 vie =8
wirer T ¥ 5 erfed e v w5 Sof F s s
wtgrelt 21 A w31 e saferfa oo
fou T o W srave wRMd 1 qenty, whenel st
Tifore e Sifiefe adier - s 1eE 1Rt aden gl
S HFT B |

SR/ ERETed Ui a1 SET SY (S fR
Thel, ST TAI1E) 1 TG0 Sl B

e g H e % faw adanedt S 3 fremi ud et
B Frafm 2 e aem v & w9 T &
en wire o i s fafes & smar dm

Terddt oft Teurfa o wian g, s 9= v gEv e w1
1 off w7 @ e fran s ik 7 € Her smm
Srea fermrer S |

e ke, ST O U gEh v H o v e yhien
T 1 el wE ws @ wed u o off fad |
witgret grT udten W/ we ¥ vEw wE % e
Tereit wenTC ot uTa@ wTmaft, fEe o safeiey, e
=t ufdal, U, dieEe W, SoraeiTe ST AT
Torelt 31T WehTR ot WIeait =Rt o ST 9T SUET s &t
Al T ¥
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